
USER GUIDE

ØI-RD-UG-EN-0395

JIG FOR NON-METALLIC SMARTCLEAT

INTENDED USE
Installation Jig for the Non-metallic trefoil 
SmartCleat to allow for easy installation on any 
support. 

INSTRUCTION FOR USE
1. Slide the Jig plates to mate with the cleat-

connecting bolts.  
2. Make sure both Jig plates are held in place, 

matching the head of the bolts. 
3. Lower the SmartCleat base down on the Jig 

plates.
4. Place the SmartCleat base (w/Jigs) onto the 

desired support.
5. Install the SmartCleat base to the support 

using supplied M10 bolt and appropriate 
adapter. Tighten with M10 nut to 20 Nm.

6. X-section view to show the Jig holding the 
bolts in place.

7. Place the SmartCleat upper part over the 
cables.

8. Install the M10 nuts to secure the cleat 
together. Note that it might be required to 
hold the Jig in place by hand. Tighten the 4x 
M10 bolts/nuts to 9 Nm. 

9. Remove the Jig plates.

Note:
For installation close to a wall or the siderail on a 
ladder, use an appropriate wrench tool.
For more information about cleat adaptors, 
please refer to ØI-RD-UG-EN-0436. 
For more information about installation of Non-
metallic SmartCleat to various supports, please 
refer to an appropriate user guide for the specific 
support. 

1.

4.

7.

2.

5.

8.

3.

6.

9.


